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Write the mudari', the amr and the masdar of each of the following verbs as shown in the example.
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Write ism al-fa ‘il of each of the following verbs.
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Point out in the following sentences the verbs belonging to bab fa *‘ala and thelr various derlvatlves.
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Write the muddari* and the masdar of cach of the following verbs as shown in the example.
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Write the amr of each of the fo]lowmg verbs as shown in the example
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Write the ism al-fa ‘il of each of the following verbs.

JeWh ool g el el Jell g el el

A H g
(S IS b )
3 s .1::? T

4 e A
Sl A w5
LG-“::“’:‘J-{JJM‘MJ&W M@N\J@N\Ji—c

Write the ism al-maf*iil of each of the following verbs.

Joraall ol g LA oWl i gl f Ll sl

)oﬁ //02 2 %24 //O.i
°r§i o;\ ¢§-L*-’/.. g}L“‘
2 o4 - /°£ 2 o8 //05
£ 'S @ _%

Sy LD .L’/:; Jae)

Véo




Jmocu\ wm(w)
c&w\ \j C/"YU ctj\.:a.w\j cwa\.o.“\.@_&w&j c«J.t.e\)) uU 41«43“ JAL: it
O\.AJS\) d&d\ Wb UM&M} ch;u&J\ A °\)

Point out in the following examples verbs belonging to hab af ala, and their various derivatives.
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Point out the verbs belonging to bab af ala and thelr derwatlves occurrmg, in the main lesson
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Use each of the following verbs in two sentences: in the first as it is and in the second after changing
it to bab afala.
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Use each of the following verbs in two sentences: in the first as it is and in the second after changing
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Point out the verbs belonging to hab “|&b occurring in the main lesson.
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Give the masdar of each of the following verbs on the pattern of Jls.
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Give the verb from which the comparative :'JA ji is derived, and give its mudari‘ and masdar.
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Point out the verbs belonging to hdb J;Lm and their derivatives occurring in the main lesson.
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Point out in the following sentences all the verbs belonging to bab J¢Us and their derivatives.
Oev:E 4§ o p*)a.;.ﬁ Lfﬁfg'c \ Q)ji;:u {l& : J&55 956 J6 (1)
VA 35 sl 108 2 200 D3 1 L) JERIENC)
S FC RO .1@ Sfbasy ww\ J6 (v)
OBV B 5 Y (o)
¢ A5 S f‘ uid\ (o)
;Mu\ ) ih hy ‘ujﬂ!\ G a5 b ()
.;L‘Z’J\ IS e J}M\QJ\ (’ﬁu v)
|55Laady V3R 2 LE5 (M)
0 sl Shag B e L) AR o 9 86 ()
W e gg s N BB B e (1)

YA




Oyrbally sl 251 (1Y)
SR TN s (- me o e B e RS s s
g Y 3 UGS Jelaon e el us) B e - 1

Pl rd

A _ o }}0 £ - ,éf Z’;"o 1 N\ T // .
o5 A Wy iEy (hengay 8 YL B NG ()

PP PR N T PO TR DT PII DI T SRV t G PO (E DO PR
@ ondally SUN A 1350 NG (sEl T de 155855 6 ()
.«\jfjk;ii ‘gj» :f\i:a? «\jfjt;f ‘gj» (Y 8500

; - r oié/ < T4, = 2 5 2 PSP
W ey Lorieliiy @ peilas] LSy U s 3 Aaz5 3

A2

) 35 (W
Ve cdb 15y o Ay 4«31» u\?\ e ey L BAEST - v
A olE ED ()
P 2 -
LS A Ed ()
s o)
Y3 byl S &S ©
iy @ G EuST G b sl 1 580 D (o)
Rewrite the following sentences using .. i) e ulp «Ey J}s\
25 Ll (1)
o5 Y il it (v)

°

ol J (o)
L) Jls E }};J\ (1)

YAY




Odally slsdl 2500 (YY)

PRI R R PSS e «wxu B0 Yy sdb L «ii =15 Y - A
o (Dlas e Gl s OF 15) 59
(visad) 6 b w) N L @Q’S ()

covsan € el 33S1Y B ()
1 S Y5 M‘c‘b s 0 0% e Yy s 2 (=)
Gt oly)) .«&MLZJ\ G5 625- 2
«me B Yy Nexisd V) u\.o.l.iﬂ Lo WS 0%
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\

V)

°; P - &
e

.85 cc"\.éj.f» c‘\.éj.é

. \ P
o ¢ w A <

oy aj.Sb fsj.’oi» L «;‘-ﬁ.s{i}\ e \:{\ OF il 3,6l

e 08T O
s s e Dsis Gk «u.&i\ e 4.Ub Jj.c—\» 15 LS (Gl

E ¥ 2 5 \W

<<U,L¢f 5 T»} <(L5/L,/a5 ob ) bja\» P ILTA JRWEN

YA¢




Oapally ol 25 (1))

- 2 P 2 = ) )
G DN «f)j.ig oSy b L« i)).ia LS oYl e Jeled» -y

-

0 1yl I PR EREAN
.(i\‘:o\.c«é\fj\) 5 \.él\.:u}i :)\;\ é:.é-w\ U’é é,\ljj\.i&

6::) c&\y\ i) Jal

JWJ?\ 3 }o/Cﬂ\wﬂ\dv\J(\

AV FFA N I » 2 3% ()

L5kl DS 1 w,&\ 4 (Jlaa) I (1)

Sl (oS kel 325 LA SO (g)

Sy g e Q0GR s OF JO b bas Y

GO (Ve PR (VSR (Ve P PR PR PRI RSN RSN e
“/’ sj.n.d\

| L N S G- SIS SIS .

(rvisally 4 ...ad JUS @bﬂ-\)@‘ﬁ\ O G,le\.“.; 0

Lol 4 Geal v GBI B IS ek a5 B (o)
NQUNRLHEI )

.(;\J;.fﬁ\) Y &&Sj /;;l;.stj r.é_w:\:é\ \e [)j:l’:: \.:..3 rb:k;\\%?v (=)

COVViLa) Gy Eals :/f g ,Q.sz/ Jﬁ?n\a Ll\g /’jj.g.l; %T (3)

YAo




Synially alsl 2500 (1Y)

Sl dggaan Lss

J&b “;35’ czj;jj ci)%j cgij cd)l

(Y3l @ cuu.g.ﬁig.:u \Q\ B 5 S W) N %
(Vata ) & u\.g.zjf Juad 2&3\ 3

;.."w\ KCgp WKW

q&fi PRIV

LONE EST5 555 Tl 155 cES\ji\.:LBI\ §Ws

Sk olall B3 133 3 e g

SAN I A A 5 Bk G
RO

dgand Sady IV Loais oy et Je 35N ode A0S

o
e
»\
\

\

€
\

e e oo
(] i\
\ A\ Y
\
N S

i g Andy A g cw

sk (] 31 — 34 4
L L
51 o) a2 AN TR

“/A.LQ.:- '\31}44\1&:—* \gl}c}a;\j




Oyrally g2 2301 (YY)

L(Vaa:00 e JD i{ \a4 u\.u...;\ ijw 4:13 :/)\g & ())

(re:old) 4 {\.E:LiJTé.,’\.c sedis sl SL

el dog S 4 oi»ﬂ“ JM (")

o\/w\ O skt st W leenl BB Y, gl b E AE A Y
.w\jj,a;

c;i&;a;;j;;mjé;a;;momsswx/°~Lg:;uf>hw” s
(G2 § ﬁrp\.«owd ico(i.gjb\\.:ﬂ\u B oo

rd

avegsay § Yeml A & 335 Jg,(,mum,us;g%@

(e & ﬁé,\lﬁ\

i EST5 O co\j Op 16 oy fjj;é 545
S GRS w\fﬁ (S5 5 (S5
.«L;;J» ¥ PINT Yl he S3325 Yo« W
.«‘.j.ﬂ» 1 si% O ‘j\ @le 1225 6 «Jady Hf

L p

- - W

YAV




Oypally B 53 (YY)

O oyl y LS,LJ\ Sl (YY)

}oioii/ii o % .k Pl "/ ° “ 0
L3S 1O adaial BB il & LS
e PP A e PR v R AN

Saialy oAl e 1R Lengs b 205ESY) ekl Y
Sl cazEs ) f sy

¢ olds L &350 o
.j);ij\ u&j.& cdajjaj\ : o)\.iiu &;1./5.03\

Z ®

o) g ol ilardl)

¢ S L

VAN

: ]|

Jewen]

:a.:j\.’u

:‘L)\.’u

-OLde

-obae

oyl




D5kally S8 50 (rr)

T RN IR TR PO
BN SESE (DY AT UE dae 28y

sl 4 e T

ST 2 JU 2l Sl by et anS
OET 2315 -un il Bl i ol J,U G ol ) w3l
L@“"\J\;u Astxw)»\u,dumv ausuuuﬂ
(s, oly)) .«;;b,.g Ls»- b.\.;aj cA.U\ 4230

? 3kl b M aoal ) 05

gz Ay (2 ) T & i LA LT e

¢ ufjajs jip\ €] 2 (’,.&‘Y\

L

¢

P }‘“

y Lsp&y\ V'L‘Jb ‘LS“"J" v.l.o 4

Y A4

-OLde

-Obas

ZL)\.&A

::U)\.’u
o)




Oysially S 250 (vr)
e
Answer the following questions, i) 5;1;353!\ o _,_,.\ -\
T S das Lol BT 5 E (1)
¢ buke 6 ()
¢ st o dEl Ll ()
¢ 2ol canSS) & (¢)
¢ 2.8 J6 3L (o)
¢l B O X i A0 Gl 5L (v)
B s Sy (08 + O =) iy S il S sl 1 e
FB GaS B 3 s B O

R Db Gy 85130 J6Y) S G & A

Point out the verbs belonging to hab |a) and their derivatives occurring in the main lesson.
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Complete the following sentences.
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Point out in the following sentences the verbs belonging to hab J.uv\ and their derivatives.
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Point out all the verbs belonging to bab J,w\ and their derivatives occurring in the main lesson.
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Write the mudari‘, the amr, the ism al-fa ‘il and the masdar of each of the following verbs.
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Rewrite the following sentences using bdb "=z as shown in the example.
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Point out all the verbs belonging to bab Jas| and their derivatives occurring in the following
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Point out all the verbs belonging to hab 3,.9\ and ij and their derivatives occurring in the main
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Point out all the verbs belonging to bdab :).u\ and their derivatives occurring in the following
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Answer the following questions.
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Write the mudari* and the masdar of each of the following verbs.

jM\

é e

‘/ rd
~ g
°

A . °

b)\ J\.a.e\f\u,&- ¢

Point out the rubd 7 verbs and thelr derlvatlch in the followmg sentences, and specify the hab of

each of them.

dbjﬁ“) V,S.S\ 52 ‘f&ﬁ J—‘Ljﬂj\ J.;-S (\

ROPSCY JAE\ g.,&.u«; (Y)
2530 2153 wyﬁs‘ &53\129‘ ()

A 2 ez A 3 T AT I
(YA & oA C)}Li)\ &?ﬂaj 5&3\;.:\.: NI b Jw JB (¢)

& = 2 @ ,é/ 5" _ P > P RN
L,W);\.Q:\Eﬁ 3.:;\ J-?'D‘j QU\ ‘-;"C ijwﬁ 6‘\;&3 JB} (°)

YYY

(VA0 e




Oynally Loaldl 25 (Y1)

\t

3

o 5 GIT HT  J A Je» < B Ju EVNERCINES EXQY.
e rw‘ o\))) «J.j\ J)jx\ 63\ UM\) CJJ\ UM\

/0/

(o] }m!\ oly)) «4.«./55 45| o Mt 55

oy CESR (.J LAy J..u Qi u\» : S f';..ﬁ\ o s u" e (N)

Casly &l Ly @*A‘
SUINE = JFCERREUNN DO
:jfc .b.wcu%‘_;& @AJ\,&JWLS}&‘&-{(\')
V&s&sdlp s vgju i[NP T C e
g, 1185 Bld 36 545 40 B L B 1 s

-
.~

éj Sepe St }MJ J’“‘” S Ga» G Ll L3N A Ly - o
/ U‘f“w J""yj c’\-’jh g j,z\,o“’/ /'° Ls’)j
e Gis 1315 5«3y sl 30 A \:\Jm» 5 6@
«im» &fyx €23Vl 0555 01 yd (gl 23101 13y Lﬁj i)

<
A o £ 2 @*

KWESHF & BNty «Ja..w Qs il ey Js5 ol 4y GE

«6U\ Ly G; Joadl) oo Gds 13)5 58 <<6L~J\» «6\;J\ A
dalond G 055G O 52

YY¢




Datally 2eal8dl 21 (YR)
>0 3 2
6 € - Syl B AU 5
G &+ 5T 3h GESE G 3 ()
o)LMJ\ ZX (C)
.J.faﬂ\ {.EL;.:; oy ge;vd\ u’ 3y b C{p‘d& (\)

Point out all the instances of 24\ * ol occurring in the main lesson.
N

W\:‘;J‘:"’M%") c@b L«AM‘-}.{@)&J\&«J\» J:-;\ (Y)

Rewrite each of the following sentences making the khabar definite with a/-, and make the
necessary changes

FICE IR @) s Vi (o) S a ()
.&t;,\; Syl ()

s «lan Gadd .«W\ Lem eda «.. ,uj Lo Goy -

A5 L 5 ()

T B b ey SV B G o G ()

o 5 515y L G ks o3 8T 5 0+ 06 06 00
(M) 6 A O e

ool o+ Oy 15855 Wase b s JW 433 (o)

.@uas\ UM}\ Sa sl (o)

Yyo




55aally Gl S (Y1)
~° ~ a 272 12 “::i /°~“o % o~ 3 ° . . - i <
(bl Sy Jo pi plgal VN s L« L b ey -y

(he s SLEYN @ b)w ‘ ()
O aichey) 1 (J&\ ()
(oY 1 s %Q’QGUS‘MA Csj\.a\a\r.;\ & (V)
B ekl Gt e 2B Wi
(Fo: U2 @ ro ;,Lwi’ éj_c_ﬁ BI\ Sy J.é_; b
R 36 e sl g5 3
Rewrite the following sentences using waw al-aff ( alas)) §1,).
¢ Bl s Jo (V) ¢ 30 0,850 a5 ()
ij;.w < gden J&d 2 Jgads «31» La (1vsady @ ;»a:}l J\.g 35 B - A
AyS 3l
(SN e f S BY 0B ) i 035 B BRG e s i - s
L 0y e gl ;\.w\l\ por e

Write the plural of cach of the following nouns on the pattern of fa '/d.
4

( “9.0.?-/ ‘ @ 4-:0

A 49\.&5\ S35 s O3 «g) L» A «» Ua «d;)\ S -
V.LKJJ\ el ‘.s” 1WA L;Sh.i.lj s s . IS

Yya




Oarially 2eslE) 2501 (Y1)

;\n

f LA

P car ) Luds //“Ls’J)"’

SN By 25 S S sl aa Lds (1)

N S I B3 1 L B L W EU ()

Ls’)b ;.;;: M.>-j.~o.n ;U\ :'J\.jl (Y)

35 iyl e o SA s WhsE 6.6 L s e 2B (o
oL

f)} G :”/' cf\.;az.;.Sb \.é:.c ;Lwy\j cL@m}j c\.a.ﬁ U\ g_j; (°)

«LS’) c\.:) cu) ‘L;U cqj» ngg :\.;;-jy\ ol &2.;52

o Z-

Lol o Jajw.i\ Sy O b\ NOTSIYYDR | iAQ}Mrﬁ \3\ Bo-Y )
A VARG v P 15y L) 2y L ESle LS Ll S1aT

L) N1y 0 ENL sl f Lt et dy & 0T B A5 -y
Ju\jrmv\w‘ M\J&muﬂw
33_:»T qu ” i Vj/ i:(’J
L(YV:iab) w @L:J/ d_;/g:\.g.él J.L;\j J’igﬁj‘ L;é)

;\\

. -

Y A

° . A" 7 (o 2 . » 2o (.
i el S LSy b« s Loy
Specify the type of & in LW}», :}AT (’:K., LS
2 2 °
What is the singular of 3}.;;5‘ .((le;.d\» i}i’: Lo = V¢
: @ o, ¥°2 PR
St L Jad IS L SSTA - v
oY ‘/ZT:o\ CRE CERS

To which bab does each of the following verbs belong?

Yyyv




-

u},wd\) J»:\m‘ ).U\(M)
5 e - /w

Ma i L)l m)w\ «y o .55254) I 5% L;\ ey (,.5 Ly - 41

T

.

LS;"\
(,JLJ\ ¢\ A Lg\ «(..5\.*.3\ u.m (WY\ =» ()

-
\
- w

275 Al dzaug\ s sl «lyns UNCEARN g ,,uai» (&)
Lao-lo g\.;

e /

Js 8 «4.0-\..,9 ub ('J L stjg‘ | LS’ u,wl.?-\» (C)

P
-

\/»

| p-e

YYA




Ogrially Eealfd 25001 (Y7)

s

FHEE Gl obs iyl Al D il
\'wwnow n\*\.omnow & % “\ &7
uﬁr& ur& K Jals CTF ° 1{, rrc, Y

\O\o

.

b pis) cfh, VY eSS s ) 1 s “uwa v
3550 050 vy A cr& Y

nrn
\
®©
\
o
Cas\
—

s s |
< ,mmu\c&&\L, L.V\.G(,whﬁ&wux.s:

o~ . # . ez oz

2 2 S

Yya




Ogally LB 2500 (YY)

b ilay 1;'\'57’“/ L

36V 23 iz e

AELLN DS B 05 A LAES . es AT 2ET
PO VU T S B RN AW

¢ Mall 56 fy 1
BE) agiabsl ol )

¢ Giohatl e i e)dell

U @ Gl IR G gl Saksl )
¢ L;’;\ \g Sl G Q;f.lg' oY ¢ uv}.LoJ\

¢ skl b JUS BT ipn

}/ //




Opally AN 2500 (YY)
°J“"§ 25 u‘*’f’ A¥: LS’J"‘;W
A.U\ s 0l vﬁb\” J.Lc\.w\.w

z

A sls o) T vl wBased o o)

1 elale 2a a2 Bl Asd B

o B T

WES TR AR

§ - Gl IG5 35 BG) » 1k B iy Lty
(o : &)
(Yr: ;\,W‘Y\)ag\;;; u.:.djj 4| \g\~jj;,j§ é,\:,; gh53
() :dowasll) @

(v u>€<fw&wd;‘6&¢ﬂ¢%bléi L
() o) gl

il B UG Gl B30 23 s

xS 3%

A es o) 58

SN j,la,w

YV

s el

el




Dayaally A2 2541 (YY)

K
Answer the following questions.
¢ i) g,JUaS\ \ L (V)
¢ L3 2 s e (Y)
¢ d5ais oLl 8 2hy aEled G

Wurwus;@ﬁi\-v
C:“’)‘d-u‘

3 L W‘Mb
RGN AV ULRANT)
A8 Y G (e

\3\54«31\» A C:a.: Y, COL»J\ &« (e

@
4o ¢«‘§11» A% adss

-

. ;,j gl “l (\“)
Ay

G Lo LS

m

X
}ff\j ;s’
J
= IV S < Ve IS

- WS gy
s ©° 7
.‘J}U

il A% s

RS (S Ll (ESa3 P S LS (& LA J.o\.é)\ U (V)
\.JAJ\ cdu,\; cuuv\; ARd (Gl P S LS. Y\ J\ (Y)
\j,,a:;j .uﬁ;u; .\j,.ai P Y cé.ctl.éd\ o5 ()

YYY




Dally LAY 25000 (YY)
L3 L S 1 S BIRA 2L (3)
;;ja;l c:;.;jlg/ c&::b.; feed XY §}~»j\ :)j: €))
LZi.ES e LS (b V)
:}M/ % \ u;_a:a-ij\ j;\,;,:p

i sl sy o dlﬁ\fcw V) ;s’\’ N
\.@.@ ;X:/-‘j :}5 é;; 35.3\} g»j.d\ Lﬁj 539\}3‘ E\.;»sé.s\ Ci}&.ﬁu\

Point out all the pronouns occurring in the main lesson, and specify the category to which each of them
belongs.
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Point out all the separate pronouns of nagh occurring in the main lesson and mention the reason for their

being separate.
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Rewrite the following sentences placing the pronoun of nash betore the verb in each of them.
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Rewrite the following sentences using Vl as shown in the example.
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Fill in the blank in each of the following sentences with the type of pronoun mentioned in brackets.
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Answer the following questions using two pronouns of nash as shown in the example.
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Answer the followmg questlons usmg two pronouns of' nasb as shown in the example
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Oral exercise: Each student says to another:
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Write the masdar of each of the following verbs on the pattern of fa ‘il.
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Answer the following questions.
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Point out all the instances of mafiil mutlag occurring in the main lesson, and specify the

signification of each of them.
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Point out the instances of maf“iil mutlag occurring in the following sentences, and specxfy the

signification of each of them.
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Point out words deputizing for the masdar in the following examples of the maf*iil mutlaq.
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Complete the sentence . :)ubw with three instances of maf“iil mutlaq. In the first instance it should

specify the number, in the seccomd t/he type of action and in the third it should signify gmphasis.
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Derive the masdar al-marrah from each of the following verbs.
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Derive the masdar al-hai’ah tfrom each of the following verbs.
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Answer the following questions.
¢ i L2 5 D06 2k o (1)
e 8 5 o 5as ()
¢ U G 185 il 55 2 (1)
4§ Ui «Bhy G «j.>=~U [CERAS RS
55 U o ol 5 s Y Ok D 6 ek
RCREPUAY é,‘l.a\& RS Ef::\_’))\ \}\:.33 N5

G Jpmiadl Al 00 G 7 500 -y

Point out all the instances of maf il lahu occurring in the main lesson.
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Point out all the instances of maf*il lalu in the following sentences.
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Fill in the blank in each of the following sentences with the word given in brackets making it
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Give the singular of each of the following nouns.
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Oral exercise: Every student uses the expression jau>3 1> in a sentence.
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Oral exercise: Every student uses S in two sentences, one being for fahdid and the other for
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Point out all the instances of famyiz occurring in the main lesson and specify its kind in each of them
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Point out the tamyiz in the following sentences and specify its kind.
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Complete each of the following sentences with a suitable ramyiz.
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Change the ramyiz to majriie in the following sentence.
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Write the masdar of cach of the following verbs on the pattern of fur 1.
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Oral exercise: Each student says . .. u._f)“b:zj\ :fws;‘\ \.3\ using an appropriate famyiz.
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Rewrite each of the following sentences using both the forms o‘r fi'l al-ta a/]ub
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Use the word «¢ Js» in five sentences on the pattern ‘I want a fistful of sugar’.
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Point out all the instances of istithna’ occurring in the main lesson, and specify the kind in each
instance (muttasil, munqati‘, mufarragh).
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Fill in the blank in each of the following sentences with the word given in brackets, and make the
necessary changes.
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Fill in the blank in each of the following sentences with the word given in brackets, and make the

necessary changes.
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Fill in the blank in each of the following sentences with the word given in brackets, and make the
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Write the masdar of each of the following verbs on the pattern of fa ‘I-un.
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